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ADIES Al JIEE 24

DICHS! HIAIN P8 (YLeHBTHT/Lersm)

Al A

SN - BE - SA(B) - NRAY - BES 0 & ol o HIRE2

ADEEZED 16,111,386 16,339, 166 772,220
2 299,000 299,000 0
< 883, 19 883, 1% 0
ES 9,000 0 90,000
Al 14,839,190 14,156,970 682,220
DIcHS! HIAIN 78 (LBH2ZH/UersE) 14,369,630 13,634,504 735,126
2 299,000 299,000 0
= 883, 1% 883, 1% 0
ES 90,000 0 90,000
Al 13,007,434 12,452,308 645, 126
ADIESAl JIgt =4 6,382,492 6,322,492 60,000
2 299,000 299,000 0
= 603,000 603,000 0
x 60,000 0 60,000
Al 5,420,492 5,420,492 0
CV SBRHHEH 2 ¥ 2435 4,601,612 4,541,612 60,000
= 603,000 603,000 0
ES 60,000 0 60,000
Al 3,988,612 3,938,612 0
401 AlEEI K 2OHE] 2,970,000 2,910,000 60,000
= 603,000 603,000 0
= 60,000 0 60,000
Al 2,307,000 2,307,000 0
01 A& 2,963,350 2,893,98 59,352

SMg NIIOKS OV &X
20,000,0002+38.92/ 100 19,784 19,784
x 19,784 19,784

O0ES REBYZ LTV &3

20,000,000208.92/ 100 19,784 19,784
= 19,784 19,784

OL2tel HHOKS TV &3
20,000,0002198.92/ 100 19,784 0 19,784
x 19,784 0 19,784
03 Al& CHHI 16,650 16,002 648

OS4E MII0KE CCTV &3
20,000,00024+1.08/100 216 216
ES 216 216

ONES REBY2 LTV &3

20,000,00024+1.08/100 216 216
ES 216 216

O42tel HHOKZ TV &3
20,000,00024+1.08/100 216 0 216
= 216 0 216
NEEEERNE 1,322,750 8,853 373,807
= 0,138 20,138 0
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3. OlcHE dNAIE (L3 /Letld)
el NSgEs A3 (St &)
SN - B G(EH) - NRAY - BES 0 & o[- HimE==T
Al 1,292,612 918,715 373,897
H EHOIX 2¢ 296, 131 162,234 133,897
201 ZBt=3hl 197,594 160,594 37,000
01 AlR2telHl 55,594 18,594 37,000
Oggt==H| 37,000 0 37,000
SANIERE A HAIE E28 29E 37,000 0 37,000
- At S/W 31,000,000 *14] 31,000 0 31,000
- St S/ 1,200,000 «5CH 6,000 0 6,000
401 AIEHIL 20| 4,000 0 4,000
01 Al&HI 4,000 0 4,000
228 CaEd0l X 4,000 0 4,000
oHE JIx #X ¢ d2 o3
4,000,000 14! 4,000 0 4,000
405 RHaks S| 2,897 0 2,897
01 AL =S F = 92,897 0 92,897
OANE 22 &A HAIE 2 HW 7 92,897 0 92,897
oE52IXl =22/ CIAZd0]
16,100,000 5CH 80,500 0 80,500
SHAE SR8 2 AMH HMW
12,397, 0003 %14 12,397 0 12,397
g2 25 ¥ 23 AIY =& 593,059 353,059 240,000
308 ARISMSOIE 240,000 0 240,000
N S| 2SHUEE S AE AN 240,000 0 240,000
OXISS3t BIEtH A MEIA 2=
240,000,000 *14] 240,000 0 240,000
LS4 01288 &4 4,212,306 3,911,077 301,229
< 250,058 250,058 0
= 30,000 0 30,000
Al 3,932,248 3,661,019 271,229
Y =23 FHl =izt 2,903,810 2,842,581 61,229
405 KHoHF S| 991,486 930,257 61,229
01 MM =SF SHI 991,486 930,257 61,229
Q20260 =AMAH S &3] TA2IASE SAIEH|
=Y 42,929 42,929
odFES} IPT 374,000 «65CH 24,310 0 24,310
cHYNE MASSS(Poe) AR
1,595,000 +4CH 6,380 6,380
ol2 AKX 2,014,650 44 8,059 8,059
= S OHEHI (VPN) 4,180,000 *1CH 4,180 4,180
OIS MEE ZAE & AEZH 7
18,300,000 % 14] 18,300 0 18,300
Su0=LE3E = 1,150,000 910,000 240,000
< 200,000 200,000 0
= 30,000 0 30,000
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A DICHE ATAIE P (LES3Y/LLEE)
ol 2SN 0|18E8E Xd EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
Al 920,000 710,000 210,000
401 AlEHIYL S THYI 1,150,000 910,000 240,000
< 200,000 200,000 0
= 30,000 0 30,000
Al 920,000 710,000 210,000
01 AlZHI 1,141,450 902,962 233,483
OY = R40tSsS il
30,000,000 *14] 30,000 0 30,000
= 30,000 30,000
ORHOISESEH 2E(FHS)
210,000,000&%99.28/100 208,488 0 208,483
03 Al 20HHI 8,550 7,038 1,512
ORHLDISLEHH AE(FES)
210,000,000& +0.72/100 1,512 0 1,612
WLES(AOEZEN) (LESSAT/ALAT) 115,094 78,000 37,094
SN 115,094 78,000 37,094
PSR 115,094 78,000 37,094
802 Btet=0IEt 115,094 78,000 37,094
01 =Ex3ttE=a 4,751 0 4,751
Q2022 & - k== GIS DB =& - B4l At 4,751 0 4,751
o ALS &HH 4,393,000 14 4,393 0 4,398
SJUPN; 358,000 14! 358 0 358
03 JIEreHE=S S 32,343 0 32,343
o022 CCTVESE2MAE =SSt 2HHIIH
NIE Y3 AESTH
32,343,000 14 32,343 0




